| Efficiency vs Dxy |
> 0.2
<

5 - : : : : : :
0 018 P preee proeee R
< : : : : : : :
L T U S

9 - H H H H N N N
Q004
E . . . . . . .

——_——_-
b
008 fh
008f sl

004l
T S T L s e

1

Ratio

1.1

.............................................................

2015100 =8 0 5 10 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPE_step2_tthar-phasel-newgeom

0.2 —— DQM_pixelCPEANdChi2_step2_ttbar-phasel-newgeom
N . ' T T T
> : : :

9,018+
> T : : : : :
R T s s e
(&] - . . . . N
E0.14 R Frrereree frorereeeee A
o : : : : :
e e
IS D S N S SR

008 b o

006

0.02F #***"n:'.-*ﬁ#ﬁ“"" ...........

J..Q !IIII!IIII!IIII:IIII

0.04F

Ratio

............................

=
[y
LI LI L L L L I B

10~ 20 30
TP dz (cm)

|
w
o

l
N
o



	Contents
	Page 1


